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================================================================================================ =
Benchmark       Machine                         Compiler and optimization                        
================================================================================================ =
dp5_4dim        Compaq AlphaServer ES40 Sierra/667      f77 −fpe0 −O5                            
dp5_4dim        Compaq AlphaServer ES40 DEC6600/500     f77 −tune ev5 −fpe0 −O5                  
dp5_4dim        AMD Athlon 2−1400               f77 −O4 −malign−double −malign−loops=4
                                                    −malign−functions=4                          
dp5_4dim        Intel Pentium III               f77 −O5                                          
dp5_4dim        Intel Pentium III−600           pgf90 −O2 −tp p6 −Munroll −Mnoframe −Mvect=sse   
dp5_4dim        Sun SunFire 880                 f90 −xO4 −dalign −xlibmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170 −xprefetch=yes −unroll=4
                                                    −ftrap=%none                                 
dp5_4dim        IBM RS/6000 44P−270             xlf95 −qfixed −O3 −qarch=pwr3                    
dp5_4dim        Compaq/DEC Alpha 4100−5−466     f77 −fpe0 −O5                                    
dp5_4dim        IBM RS/6000−43P−100             xlf −O1                                          
dp5_4dim        DEC AlphaStation 500−400        f77 −tune ev5 −fpe0 −O5                          
dp5_4dim        Sun Ultra Enterprise 450/400    f90 −xO5 −dalign −xlibmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170 −xprefetch=yes −unroll=4
                                                    −ftrap=%none                                 
================================================================================================ =
drv3            IBM RS/6000 44P−270             xlf95 −qfixed −O4 −qarch=pwr3                    
drv3            Compaq AlphaServer ES40 Sierra/667      f90 −fpe2 −arch ev6 −tune ev6 −fpe2 −ali g
                                                    −inline all −pipeline −speculate all
                                                    −unroll 4 −O5                                
drv3            Compaq AlphaServer ES40 DEC6600/500     f90 −fpe1 −arch ev6 −tune ev6 −fpe2 −ali g
                                                    −inline all −pipeline −speculate all
                                                    −unroll 4 −O5                                
drv3            AMD Athlon 2−1400               f77 −O2                                          
drv3            Sun SunFire 880                 f90 −xO4 −dalign −xlibmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170 −xprefetch=yes −unroll=4
                                                    −ftrap=%none                                 
drv3            SGI Indigo R4000−100            f77 −O2 −static −mips2 −sopt,−r=3,−o=5           
drv3            Intel Pentium III               f77 −g                                           
drv3            Sun Ultra Enterprise 450/400    f90 −g −dalign −xlibmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170 −xprefetch=yes −unroll=4
                                                    −ftrap=%none                                 
================================================================================================ =
drv6            Compaq AlphaServer ES40 DEC6600/500     f77 −fpe2 −O1                            



drv6            Compaq AlphaServer ES40 Sierra/667      f77 −tune ev6 −fpe0 −O5                  
drv6            IBM RS/6000 44P−270             xlf95 −qfixed −O3 −qarch=pwr3                    
drv6            Sun Ultra Enterprise 450/400    f90 −xO5 −dalign −xlibmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170 −xprefetch=yes −unroll=4
                                                    −ftrap=%none                                 
drv6            Sun SunFire 880                 f90 −xO4 −dalign −xlibmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170 −xprefetch=yes −unroll=4
                                                    −ftrap=%none                                 
drv6            AMD Athlon 2−1400               f77 −O0                                          
drv6            Sun Ultra Enterprise 250−400    f90 −xO4 −dalign −xlibmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170 −xprefetch=yes −unroll=4
                                                    −ftrap=%none                                 
================================================================================================ =
drv6_w          Compaq AlphaServer ES40 Sierra/667      f77 −tune ev6 −fpe0 −O5                  
drv6_w          Compaq AlphaServer ES40 DEC6600/500     f77 −tune ev6 −fpe0 −O5                  
drv6_w          IBM RS/6000 44P−270             xlf90 −qfixed −O4 −qarch=pwr3                    
drv6_w          Sun SunFire 880                 f77 −O5 −dalign −libmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170                          
drv6_w          Sun Ultra Enterprise 450/400    f90 −xO4 −dalign −xlibmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170 −xprefetch=yes −unroll=4
                                                    −ftrap=%none                                 
drv6_w          Sun Ultra Enterprise 250−400    f90 −xO4 −dalign −xlibmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170 −xprefetch=yes −unroll=4
                                                    −ftrap=%none                                 
drv6_w          AMD Athlon 2−1400               f77 −O1                                          
drv6_w          Sun UltraSPARC 10−440           f77 −O5 −dalign −libmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170                          
drv6_w          Sun Ultra 60−360                f77 −O5 −dalign −libmil −fsimple=2 −fns
                                                    −xtarget=ultra1/170                          
================================================================================================ =
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